Appendix A. Formulae of the Concentration Index

The formula for the Concentration Index (CI) of socioeconomic inequality can be written

as follows:
Cl=1-(2*(1-R ))ii
=
where, n is the sample size; h; is the health measure; p is the mean health measure

and R, = —is the fractional rank in the income distribution of the ith person, with i =1
n

for the poorest and i = n for the richest.

To account for the bounded nature of the health variable (between zero and one) we
applied Erreyger’s correction to the concentration index. The formula for the corrected

concentration index (CCl) is:

cel = Y «q
a-b

where yis mean health status and aand b are the maximum and minimum levels of

health (in our case zero and one).



